Chemistry 141						Name					


Dr. Cary Willard


Quiz 4 (20 points)					February 27, 2003





All work must be shown to receive credit.  Be sure to use the correct significant figures.





Data:  c=ν(, E=hν, 1/(=-R(1/ni2-1/nf2), λ=h/mv,(x (?h/4Π,  h = 6.626 x 10-34 J sec, c = 3.00 x 108 m/sec, NA = 6.02 x 1023 /mol, kw = 1.0 x 10-14 M2





(8 points) Calculate the values of pH, pOH, [H3O+] and [OH-] for a solution that is 4.927 x 10-6 M in hydrochloric acid (HCl). 























[H3O+]  = 





[OH-] = 





pH = 





pOH = 











(6 points) 36.33 mL of sodium hydroxide are required to titrate a 3.254 g sample of benzoic acid (HC6H5CO2, one acidic hydrogen).  What is the molartiy of the sodium hydroxide solution?








�
(6 points)A sample of red light has a wavelength of 652 nm.


What is the frequency of this light?
































What is the energy of this light?




















